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https://v3.camscanner.com/user/download
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D,Hp, T

F=4 kg/s
Xr=15%
Tr=291K

M
Po=2.4 bar U=2300 W/(m? C)
Do~*
l X1=50%
L=
F=D+L & Fx=Lx,

0.15x4=050L = L=12kg/s & D=28 kg/s
D =228 kg/s

A ) A &) el Ga (palaall) A L3S Cilead cladle 100
DyHy+Fh,=DH,+Lh, +Dh
Do(2715 - 530) = (2.8 x 2572) + (1.2 x 163) - (4 x 75.5)
Do(2185) = (7201.6) + (195.6) - (302)
Do =3.247 kg/s
= Do = 3.247 kg/s
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Q Do(Hy —h) _3.247(2715 - 530)

_ _ _ _ 2
A= VAT =23x(126.1-39) 2.3x(126.1-39) ~ >>-42m
A 8 5 Al Aalial Cuasd g
D 2.8
=—=-"—=0.862
E Dy, 3.247
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